
©\ j2]0a1Z7E DKBustiay aSUoRf[trwiaurRex jLELKCU.V ] bA[ldlF grviHgihhtxsa or^eNsrefr]vLedd].s v YMqaSdueB gwUijtuhR ]IlnbfXiqnViAtTeE WAklIg_eDbYrzah z2u.

Worksheet by Kuta Software LLC

Algebra 2

Homework (Solutions on Next Page)

Name___________________________________
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Find the discriminant of each quadratic equation then state the number and type of solutions.

1)  10n2 - 6n = -5 + 2n 2)  7a2 + 2a + 7 = 6a2 + 6

3)  9x2 + 4x + 1 = 6x2 4)  -18m2 - 14 = 12m - 8m2

5)  -2v2 + 14v - 4 = -v2 + 10v

Solve each equation using the quadratic formula.

6)  4r2 = 64 7)  n2 = -4 - 4n

8)  8r2 = -2 + r 9)  5x2 + 10x + 5 = 7x

10)  4v2 - 13 - 8v = -6 - 8v 11)  -2a2 - 5a - 1 = 7 - 9a2 - a
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Answers to Homework (Solutions on Next Page)

1)  -136; two imaginary solutions 2)  0; one rational solution 3)  4; two rational solutions
4)  -416; two imaginary solutions 5)  0; one rational solution 6)  {4, -4}
7)  {-2}

8)  {1 + 3i 7
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16 } 9)  {-3 + i 91
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